DRAWN BY: FERN LIDDELL

BEAM GUARDRAIL BULL NOSE TERMINAL BID ITEM

3'-23/4" 12'-2"

|
37 -6" 1

6 - 3" 6 - 3"

W-BEAM OR THRIE BEAM

(SEE NOTE 1)

10'

25' 65' MIN.

SLOPE NOT STEEPER
THAN 10H : 1V (TYP.)

NORMAL MEDIAN
/’ SLOPE (TYP.)

1
i
i
| GUARDRAIL (SEE CONTRACT)
I

RIS

[m pm

8R

TN AR

BULLNOSE

BULLNOSE

e ¢

STD. POSTS AND

CLEAR AREA

BLOCKS (TYP.)

%7 12R

12' - 6" RAIL LENGTH i 25'-0"(TYP)

| GUARDRAIL (SEE CONTRACT)

12' - 6" ARC LENGTH
AT FACE OF RAIL
(SLOTTED RAIL

12' - 6" ARC LENGTH

STANDARD THRIE BEAM RAIL ELEMENTS

(SLOTTED RAIL
SEE STANDARD PLAN C-1a

ELEMENT #3)

(SEE NOTE 1)

ELEMENT #1) AT FACE OF RAIL
(SLOTTED RAIL PLAN
ELEMENT #2) BEAM GUARDRAIL BULL NOSE TERMINAL - DESIGN 1
BEAM GUARDRAIL BULL NOSE TERMINAL BID ITEM
3-23/4" 12'- 1" ‘ 37 -6"

AR,

12' - 6" ARC LENGTH
AT FACE OF RAIL
(SLOTTED RAIL
ELEMENT #1)

AT FACE OF RAIL
(SLOTTED RAIL
ELEMENT #2)

12' - 6" ARC LENGTH

7 -111/4"

SYMMETRICAL ABOUT BULLNOSE CENTERLINE

5R 6R 7R 8R
S X - 10R 1R
7l 2 X o
12'- 6" RAIL LENGTH 1 %
(SLOTTED RAIL 25'-0"(TYP,)
ELEMENT #3) STANDARD THRIE BEAM RAIL ELEMENTS

SEE STANDARD PLAN Cc-1a

PLAN
BEAM GUARDRAIL BULL NOSE TERMINAL - DESIGN 2

\W-BEAM OR THRIE BEAM
‘ GUARDRAIL (SEE CONTRACT)

(SEE NOTE 1)

BULLNOSE
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, (E

STD. POSTS AND
BLOCKS (TYP.)

12R

N
—
J

W-BEAM OR THRIE BEAM

GUARDRAIL (SEE coN
TRA
(SEE NOTE 1) D

NORMAL MEDIAN
SLOPE (TYP.)

SLOPE NOT STEEPER

THAN 10H : 1V (TYP.) EDGE OF

PAVEMENT

BULL NOSE GRADING PLAN

NOTE

1.

For W-Beam applications extend the rail from the bull nose terminal
by using a "Reducer Element Type C" followed by a standard

Post and Block, spaced at 3' - 1 1/2". Continue runs with standard
6' - 3" post spacing. For additional Details see Standard Plans
C-20.10 and C-25.80.

Donahue, John

G’L\? OEA_ Aug 102019 1:41 PM

BEAM GUARDRAIL
BULL NOSE TERMINAL

cosign

STANDARD PLAN C-4f

SHEET 1 OF 4 SHEETS

APPROVED FOR PUBLICATION

Roark, Steve
Aug 122019 9:56 AM

cosign

STATE DESIGN ENGINEER

Washi S D f T i
ashington State Department of Transportation
L/




DRAWN BY: FERN LIDDELL

oL !

GUARDRAIL POST

SYMMETRICAL ABOUT BULLNOSE CENTERLINE BULLNOSE
e Q
B B I N ~ & o o o
N ,© ‘ © o o L © © & o -
Q 1O 1 1/ | | | - 9R |~ 10R .~ 1R |~ 12R
B S S S c S c SRS c SR o 8
TSIl ARICSR BRI TR. -8R Y A A - .
B et e prastisaasns azsszasaaas e s =
! ] ‘ | | | | | ! ! ! !
3-5 1/2"3-0 14’30 1/2 211" | 211" 31 1/2'3-1 12" 6-3" . 6-3 | 6-3 | -3 | 6-3 |
1 1 ‘ 1 ‘ ‘ ‘ ‘ \ [ [ \
PLAN

8" (IN) NOMINAL GUARDRAIL POST LAYOUT - DESIGN 1

GUARDRAIL BOLT

8" (IN) NOMINAL/

GUARDRAIL BOLT
5/8" (IN) DIAM.
x 25" (IN) LONG

5/8" (IN) DIAM. x 10" (IN) . )
LONG y W — b 8" (IN) NOMINAL
/“ THRIE BEAM EREeRED
THRIE BEAM WOOD 6" x 8" o GUARDRAIL BOLT BLOCK
BREAKAWAY POST ~ SEE 5/8" (IN) DIAM. m
STANDARD PLAN C-1b EEErs % x 17" (IN) LONG r
N THRIE BEAM WOOD 6" x 8"
BREAKAWAY POST ~ SEE | — THRIE BEAM
10H: 1V STANDARD PLAN C-1b
|y | ORFLATTER
fli
/,\ =
5/8" (IN) x 9" (IN) BOLT A 10 H : 1V
NUT AND WASHER OR FLATTER
)
[ F —<<1 N
© . BOTTOM OF /(\ .
| | 5/8" (IN) x 9" (IN) BOLT o
4 v WOOD POST NUT AND WASHER |
74\177 -
o
. I S B
6 - 0" STEEL .. BOTTOM OF
- 4~ " woob PosT
~~— FOUNDATION TUBE -
TS 8" (IN) x 0.1875" (IN) TvT1
6' - 0" STEEL
POST [~ FOUNDATION TUBE
IR&1L TS 8" (IN) x 0.1875" (IN)
NOTE :
CABLE BEARING PLATE
NOT SHOWN POST
2R & 2L

74"

TAPERED BLOCK

THRIE BEAM
WOOD 6" x 8" Y

CRT POST

1.0

HOLE (TYP.)

3.0 302 12 11 3

____________

3.5

W-BEAM WOOD BLOCK
FOR WOOD POSTS
SEE STANDARD PLAN C-1b

TAPERED
BLOCK

P

NI

+— THRIE BEAM

S

10H : 1V
OR FLATTER
- \ Wy
N 3 172" (IN)
- DIAM. HOLES
5
»
K
POST
3R TO 8R
3L TO 8L

GUARDRAIL BOLT
5/8" (IN) DIAM.
x 17" (IN) LONG

THRIE BEAM
WOOD 6" 8"
posT N

SYMMETRICAL ABOUT BULLNOSE CENTERLINE BU'—'-G'SOSE
- w E;.’
10R
RILORI-R Gbc 1R - 12R
. S - -
| | . o _---_::::::::t::::::::::::_i ________ U
1 i | | i '(-———-._::::::
2" 31 6 -3" I 6 - 3" I 6 - 3" | 6 - 3" ; 6 - 3" I

PLAN
GUARDRAIL POST LAYOUT - DESIGN 2

W-BEAM WOOD BLOCK
FOR WOOD POSTS
SEE STANDARD PLAN C-1b

P

8" (IN) NOMINAL/

il

RV

+— THRIE BEAM

1.0

10H:1V
OR FLATTER

Donahue, John
Aug 102019 1:41 PM

COS\SF’I

3-10"

@’«L;-PD&\,
BEAM GUARDRAIL
BULL NOSE TERMINAL

STANDARD PLAN C-4f

SHEET 2 OF 4 SHEETS

1
|
nho
b
m(\rm\
Aty

APPROVED FOR PUBLICATION

Roark, Stev
POST A?;Zrlz 21313 9:56 AM

9R To 12R STATE DESIGN ENGINEER =

9L TO 12L

Washi S D f T i
ashington State Department of Transportation
L/




DRAWN BY: FERN LIDDELL

| 12 5/8" |

NOSE CABLE "COLD TUFF"

ANCHOR PLATE BUTTONS
NOSE CABLES }<_>1 -0
\ W\ A

ANCHOR PLATE

L == ==
| SSgERis 1
O i O - : o J5= — = ERS—
| " of <§@‘§4 . i
| = > 15 - 0" — Q‘a i:) — d ! = :“
| <z ' | — = ‘
i S 14'- 6 1/4" | . T T
O ; O | ~— 27k CABLE BEARING ﬁa . %ANCHOR i
: R — PLATE (& CABLE |
1= S NGRS w
| |
ANCHOR PLATE "COLD TUFF" BUTTON \ 5/8" (IN) DIAM. STEEL Lt Lt
¢ FOR 5/8" (IN) DIAM. WIRE ROPE WIRE ROPE N T
15/16" | 41/4" 211187 316" ! i !
i ] ~1 _— L —
T : NOSE CABLE POST 1 POST 2 POST 3
|
|

SPLICE BOLT AND NUT (TYP.)

B

NOSE CABLE

STEEL PLATE, ASTM A36
12 5/8" (IN) x 5 7/8" (IN) x 3/16" (IN) 15/16" (IN) x 1 3/16" (IN)

SLOT (TYP)
NOSE CABLE ANCHOR PLATE

5/8" (IN) NOSE

ANCHOR CABLE AND PLATE,
SEE STANDARD PLAN C-6f

NOSE CABLE
ANCHOR PLATE

3'-11/2" ARC LENGTH
AT FACE OF RAIL (TYP.)

3L

U-BOLT CABLE CLIPS AT MIDDLE AND QUARTER
POINTS OF RAIL ~ (6) REQUIRED

NOSE CABLE, SEE RAIL ELEMENT DETAIL

2 REQUIRED

POST 1L AND 1R
. POS

>§;
/ CABLE BEARING PLATE

""" d TWO 1" (IN) NUTS
i~ AND WASHER
:

3R STEEL
L FOUNDATION

NOSE CABLE TUBE

ANCHOR PLATE

NOSE CABLE ASSEMBLY
ANCHOR CABLE AND PLATE, —
SEE STANDARD PLAN C-6f — SECTION @

PLAN - THRIE BEAM NOSE

5/8" (IN) x 1 1/4" (IN) BUTTON HEAD

CABLE ANCHOR & BRACKET ASSEMBLY

FOR ANCHOR PLATE, CABLE BEARING PLATE, AND
ANCHOR CABLE ~ SEE STANDARD PLAN C-6f

11/4"

5/8" (IN) NOSE

CABLE 1/8" 5/8" 5/16" (IN) DIAM.

=~ / HOLE (TYP.)

] 1/4" (IN) x 20
N HEX NUT

- -/ - - Q}—f—f—f— —————————— E fffff [

—/

R 5/8"

13/8"

U-BOLT ~ 1/4" (IN) DIAM.
2 1/2" (IN) LONG

7/16"

|

£
-
5/16"

1
v

U-BOLT PLATE WASHER

THE U-BOLT PLATE WASHER SHALL BE MADE FROM
ASTM A36 OR A36M PLATE STEEL, AND GALVANIZED
ACCORDING TO STANDARD SPECIFICATION
SECTION 9-16.3(3).

THE U-BOLT SHALL BE MADE FROM
ASTM A307 STEEL AND GALVANIZED
ACCORDING TO STANDARD SPECI-
FICATION, SECTION 9-16.3(3).

THE NUT SHALL BE ASTM A307 STEEL,
AND GALVANIZED ACCORDING TO
STANDARD SPECIFICATION,

SECTION 9-16.3(3).

THRIE BEAM

sz\? Ol fﬁzalh 0 e;’011091"11:42 PM
BEAM GUARDRAIL

BULL NOSE TERMINAL

STANDARD PLAN C-4f

SHEET 3 OF 4 SHEETS

cosign

U-BOLT CABLE CLIP ASSEMBLY

APPROVED FOR PUBLICATION

Roark, Steve
COS\SU

STATE DESIGN ENGINEER

SECTION

Washi S D f T i
ashington State Department of Transportation
L/




DRAWN BY: FERN LIDDELL

38" 9 1/4" 38" 38" | 26 3/4" 38"
, Il | Il
| |
| " " " " | POST BOLT D 3/4" a D 34"
i 10 10 27 112 13 3/ | SLOT / /
i 2" =~ = 2" = = 3/8" (IN) DIAM. U - BOLT — = 1" ‘ SPLICE BOLT 3/8"R. (TYP.) 3/8" R.
| HOLES (TYP.) 3 SLoT <TYP7 SLOT A DETAIL SLOT B DETAIL
i i
S o 7 I J 5 3/8 ‘i 8 1/8" i‘ 3/8" 3/8" ‘i 11" H 3/8"
| % i | H |
° 1 © i : o 0 | — VX /+ +)£ 3/4"
| i D
o ; )« = ) < ‘ s /;/8" R. (TYP.) t 3/8" R. (TYP.)
0 | 0 ! | T 0
: & 6 A ‘ SLOT C DETAIL SLOT D DETAIL
o o x o | o
T |
CP ( - ) ( ) B e . ) ( @D 61/"; 6 -3" K
o ! © | o | o© ! !
‘ \ ‘ T 87/8" 4" 8 7/8" 4" 8 7/8" 4" 8 7/8" 4" 8 7/8" 4" 47/16" POST BOLT
Q ! © \ | © ; © : i SLOT
[ .
\ SPLICE BOLT SLOT B (TYP) | M SLOT B (TYP.) ! | \
SLOT (TYP.) SEE DETAIL ! SEE DETAIL ! o 1 o \ 0 )
i 40 5/8" 1 | : :
\ (TYP.) EACH END ! w o | o o R
‘ 12 - " ‘ ‘
i /I/ | 1@ ( ) ( ) ( ) ( ) ( ) ( | ) ¢
SLOTTED THRIE BEAM RAIL ELEMENT #1 o] I 0 ! D \ 0
SEE STANDARD PLAN C-1a FOR RAIL ELEMENT DETAILS i i :
(RAIL DIMENSIONS SHOWN ARE BEFORE BENDING TO RADIUS SHOWN IN PLAN) o | © o I ©
C‘P ( ) ( ) ( ) ( ) ( T ) ( ) Q1
0 o 0 ! 0
0 : qk o : 0
| SPLICE BOLT SLOT |
| SEE DETALL |
\ 12'- 6" \
| 1 i
6 14" - SLOTTED THRIE BEAM RAIL ELEMENT #2
; - ; SEE STANDARD PLAN C-1a FOR RAIL ELEMENT DETAILS
‘ ‘ (RAIL DIMENSIONS SHOWN ARE BEFORE BENDING TO RADIUS SHOWN IN PLAN)
| 11 3/4" 9 7/8" 11 3/4" 9 7/8" 11 3/4" 10 14" | POST BOLT
\ ! SLOT (TYP.)
| |
o ' o0 ‘ o o
o . o ; 0 0
o | ©0 ! O | 0
o | o | o o Donahue, John
‘ ‘ ; MD&\, Aug 102019 1:42 PM
@ \ — @D cosgn
‘ ! BEAM GUARDRAIL
I ————— ————— ‘
o ° — i o o BULL NOSE TERMINAL
o : R o : o STANDARD PLAN C-4f
| \ SPLICE BOLT POST BOLT | SHEET 4 OF 4 SHEETS
| SLOT (TYP. R SLOT (TYP. ‘
‘ (TYP.) 12'-6 (TYP) 4/ ! APPROVED FOR PUBLICATION
| | Roark, Steve

SLOTTED THRIE BEAM RAIL ELEMENT #3

SEE STANDARD PLAN C-1a FOR RAIL ELEMENT DETAILS

SLOT D (TYP)
SEE DETAIL

Aug 122019 9:57 AM

cosign

STATE DESIGN ENGINEER

Washi S D f T i
ashington State Department of Transportation
L/




		2019-08-10T13:41:35-0700
	Donahue, John


		2019-08-12T09:56:19-0700
	Roark, Steve


		2019-08-10T13:41:52-0700
	Donahue, John


		2019-08-12T09:56:30-0700
	Roark, Steve


		2019-08-10T13:42:04-0700
	Donahue, John


		2019-08-12T09:56:42-0700
	Roark, Steve


		2019-08-10T13:42:15-0700
	Donahue, John


		2019-08-12T09:57:01-0700
	Roark, Steve




